
LECTURE 6 02 : 02 . 2024

Convention : If the underlying operation
is clear from the content

,
then we

will denote a group by its base

ret ,
2. . g. GLuC)

,
Sen

A natural subgroup

Let (G , ) be a group . Let gE6.
-

Let u assume go = <s (the "delity element
3

in 6). Consider g , g , g , g", .....
We note that all these poous are in G.

Let (g) denote the set (g" : n -> * 3

HW .: Show that (8) , ) in a subgroup
of (G , )

We call (g) to be a cyelic' subgroup
of G .






















